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QUESTION 1

Adaptive model predictors are selected from the
A. communication channel

B. similar propositions

C. customer profile

D. proposition profile

Correct Answer: C

QUESTION 2

In a decision strategy, the Adaptive Model decision component belongs to the

A. Decision Analytics category
B. Business Rules category
C. Arbitration category

D. Predictive Model category

Correct Answer: A

QUESTION 3

When configuring an Adaptive Model, the property type Integer is automatically translated to which predictor type?
A. Symbolic

B. Numeric

C. Alphanumeric

D. Number

Correct Answer: A

Reference: https://communityl.pega.com/community/pega-academy/question/comparison-adaptivemodel-vs-predictive-
model

QUESTION 4

In a decision strategy, to remove propositions based on the current month, you use a
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A. Calendar component

B. Filter component

C. date strategy property

D. calendar strategy property

Correct Answer: B

QUESTION 5

When a customer is offered a proposition he has already accepted, this is because
A. the strategy uses interaction history to exclude previously accepted offers

B. the customer intent was captured incorrectly

C. the propositions are filtered based on eligibility

D. there is no filter for previously accepted offers in the strategy

Correct Answer: D

Latest PEGACPDC74V1 PEGACPDC74V1 PDF PEGACPDC74V1
Dumps Dumps Braindumps

Latest PEGACPDC74V1 Dumps | PEGACPDC74V1 PDF Dumps | PEGACPDC74V1 Braindumps 3/3


https://www.leads4pass.com/pegacpdc74v1.html
https://www.leads4pass.com/pegacpdc74v1.html
https://www.leads4pass.com/pegacpdc74v1.html
https://www.leads4pass.com/pegacpdc74v1.html
https://www.leads4pass.com/pegacpdc74v1.html
https://www.leads4pass.com/pegacpdc74v1.html
http://www.tcpdf.org
https://www.leads4pass.com/pegacpdc74v1.html
https://www.leads4pass.com/pegacpdc74v1.html
https://www.leads4pass.com/pegacpdc74v1.html

